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10	key	facts	to	learn	for	the	start	of	the	course	
	

1. Name	the	party	leader:	

o Conservatives	=	………………………………………………………………………………………………………….	

o Labour	=	…………………………………………………………………………………………………………………….	

o Liberal	Democrats	=	……………………………………………………………………………………………………	

o SNP	=	………………………………………………………………………………………………………………………….	

o PC	=	……………………………………………………………………………………………………………………………	

o DUP	=	…………………………………………………………………………………………………………………………	

o Greens	=	…………………………………………………………………………………………………………………….	

o UKIP	=	………………………………………………………………………………………………………………………..	

	

2. In	the	2016	EU	referendum,	Leave	gained	…..…..%	of	votes	compared	to	Remain’s	…..…..%.		

	

3. ‘Initiatives’	occur	in	……………………..…………	and	some	US	states,	where	citizens	gather	signatures	

on	a	petition	for	a	public	vote	on	a	proposed	new	law.		These	are	similar	to	a	referendum	but	

they	are	……………………..………………………………………………………………………..	

………………………………………………………………………………………………………………………………………..		

	

4. In	the	2017	general	election	the	Conservatives	won	…..…..%	of	seats	with	…..…..%	of	the	votes.	

	

5. In	the	2017	general	election	the	Liberal	Democrats	gained	…..…..%	of	seats	with	…..…..%	of	the	

votes.	

	

6. Turnout	in	the	2017	general	election	(at	…..…..%)	was	the	highest	in	…..…..	years.	

	

7. For	every	ten	years	older	a	voter	was,	their	chance	of	voting	Tory	in	2017	increased	by	around	

…..…..	points	and	the	chance	of	them	voting	Labour	decreased	by	…..…..	points.		The	tipping	

point,	that	is	the	age	at	which	a	voter	was	more	likely	to	have	voted	Conservative	than	Labour,	

was	…..…...	

	



8. A	hung	parliament	is	a	parliament	in	which	…..……………………………………………………………….		Either	

a	minority	government	or	a	coalition	will	then	result.	

	

9. An	electoral	……………………..…………	is	a	document	produced	by	a	political	party	at	election	

times,	stating	what	policies	it	intends	to	implement	if	it	gains	power.	

	

10. An	electoral	……………………..…………	refers	to	the	authority	to	govern	granted	by	voters	to	the	

winning	party	at	an	election.		The	……………………..…………suggests	that	the	government	may	

……………………..…………	the	measures	in	its	election	……………………..…….	

	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


